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full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x8=8

G were frRPTRY Bed il ¢
(@) Which one of the following is not a trait
of an entrepreneur ?

oS TR (P! @l gEE ST A
a2 ?
(i) Vision
Rt
(ii) Conservatism
FepIeTol
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(b)

(iii) | Innovation
(iv) Risk-bearing
wfifoe T T=A

(Choose the correct answer)
(w5 TaT iR Cleredn)

The investment limit in plant and
machinery or equipment for a small
enterprise 1S

aﬁw@mmwwm@wwmvnﬁm

Hgfero AfcisE s e —— |
(i) One crore rupees
G I O
(i) ~Five crore rupees
sty @I 5
(iii) Ten crore rupees
7z (G O
(iv) Fifty crore rupees
Aeez (I 5T _
(Choose the correct answer)
(o7 T&F AR G sd)
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PPP contracts decrease the quality and

efficiency of public services.
(State whether True or False)

PPP pie@ IE= RIS TS O FIFT!
- (v% @ g% [e30)

A one page business plan is known as .

a3 opPr T AR —— T R
"Q’?H
(1) Comprehensive plan
s Al
‘.(ii} Businéss pitch
TR #15
(iij) Business idea

(iv) None of the above

@5 {ble T
(Choose the correct option)

(% Geq qIR TleTed)
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(e} What is the MSME Public Procurement 2. Answer briefly any six 6f the followingk

Portal called ? : \ questions : 2x6=12
MSME &l T AW wero @ fooge SRS expies Rl w617 59 e Bl 8
(<PICHT? . ‘ (a) State the importance of creative
(i) MSME Sampark , behaviour in Entrepreneurship.

MSME =% ' S CHfIeE I e IR @Y S 1 |
(i) MSME Sandesh | _ /L/\& (b) What is family business ?

MSME 7% ; \ AR S I N [
(i) MSME Samjhauta ¢ /(c) Mention two sources of business ideas.

MSME e / TS 4R ZB‘IA@QW@@‘IWl

; (d) Write down two features of Public

(iv) MSME Sambandh
Private Partnership.

MSME H9% ' : :
(Choose the correct option) erI-yfeate SmiRes 707 tafigy el |
‘ (8% Ceq Jife Gferadl) (e) Point out the importance of Micro, small
() Richard Cantill n coined the term and medium enterprises.
ichar antillon c 7
‘ntrepreneur’. ST, 1Y S S SOnleN @F S 4 |
(State whether True or False) () In What ways marketing assistance is
R1E oot O BRRRER 05! 2ge SEf | provided to entrepreneurs by the
(8% (@ AT f=3) : ’ government ?
I BT I
(g) Write the full form of NSIC. ooty (T Rstel
NSIC ¥ ch FACH! ToTl | : : (9) Write two contents of business plan
ice is the outcome ; : 1
(h) Every product or service 1S e RIS TS bl 751 e B |
of an idea.(State whether True or f'a () What is an Industrial
. | rial e
oo CG AE 1 R Cﬁ@(ﬂm 41l ¥ lz%l ]wl)l Programme for entrepreneurs e
w5 (o 8%
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(i)’ State two dlfferences between:
~ entrepreneurship and intrapreneurship.

Wﬁ@mm@ﬁ@wﬁmwwﬁ
A ot

" () Mention two sources of finance for -

entrepreneurs:

BT AW Res ZIFI@Q?{WWN

3 | Answer any four of the. following questions :
Sx4=20

wers - ﬁmwwﬁ?fm@mm

(a) Write a short note on Test of Feasibility.
 TERNTOI AT esige «OI B (Gt

(b} ‘What are the Dbarriers of
. entrepreneurshlp and how to overcome
" such barriers ? 3+2=5
B dfedFToi AR & 9iF Gt IS

| @ oo I ARe -

" (¢ What is meant by angel investors?

_ Discuss briefly the functions of angel

investors. ' 1+4=5
TS RIS A &2 e RN
PR DY A

(d) Highlight a few prominent business
houses in India and point out their

, business philosophy.
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(e)

@

(h)

W CPEBIT ﬁﬁr@w wifg eﬁ cwrénaw
T T gl B
What is entrepreneunal eco system ?

State . few elements of an
entrepreneurial eco-system. . 2+3=5

Wﬁwwﬁmarcf@wﬁs?@mﬁm«

»Wﬁﬂﬁ?@ﬁﬁﬁ@%%ﬂ@l

Explain the types of" Pubhc -Private
Partnership.

E-TRENS ARG eroierE T2 B

State the role of family businesses and
business houses in India.

WWWWW
cﬂﬁ%‘mi@?ﬁ%ﬂl .

State the significance of busmess plan

. or project proposal.

.Wﬁsﬁmma@m@twwﬁ

fert)

Answer any two of the following questions :

(@)

10x2=20

'Wmmm@mﬁmm

Explain Business Incubators with
examples. Also briefly state the role and
functions of Busmess Incubators.

4+6=10
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(b)

(c)

(@)

)

W@mwﬁs@mﬁ%ww
Wmﬁw

nghhght the reasons behind conflicts
in family businesses. What strategies
can be employed for conflict resolution
in farmly businesses ? 5+5=10

TP (=l [T SRR
zraﬁz o1t 2w iR i B B e
R SR AR

Explain any one theory of °
entrepreneurship. Discuss the role of
entrepreneurship in economic
development. 5+5=10

SIS Rcpie 951 g 9 91 | Sitafos
e Srfer SR StEba 54 |

Discuss the private systems and public
systems of support for entrepreneurship.

6+4=10
Bwifrel ANYAE G oI el IR NEY

ONCEHl B |

What is project appraisal? Discuss
project appraisal by financial
institutions. 2+8=10 -
o R W e e efSys wm
2RFE EIRE R0 SEna 54|
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